5 7 19
( )-1 -1
()-1
10, 900, 000 45,900 |/
1
(1) 5 7 1 (9 5 7 18 ()1 5 1] !
11
2 5 6 13 ()
(3)
2
(1 237
()] (
()
( 60, 200)
1:2 6m ( )
2 1. 2km
2 100 100 100 50
115 20.0 230
()
1. 2km 1( 160, 200)
€ (4 +4.0
5 45,900 |
18,800 /
/
/
(6)
(7
(8 = - 0.0 3.0
0.0 0.0
-2 (1) 0.0 +1.0
[ 99.7]] 100 100 [ 104.0] 45 500 8'8 ‘%‘8
43,800 | 100 |[100.0]|[ 98.9 ]| 100 : 0.0 '
(9 0.0 -1.0
0.0 -3.0
( )-4 (1) 0.0 -3.0
[ 99.5]| 100 100 |[ 104.0] 45 800 %‘8 +(1)'8
42,100 / 100 |[ 10L0]|[ 94.1]| 100 : 0.0 '
(10 -1
- ]
46,500 |
-2
1 1
/
-1.3 |




5 7 19
( )-2 -1
()-2
5, 250, 000 35,500 /
1
(1) 5 7 1 (9 5 7 18 ()1 5 1] !
1.1
(2 5 6 13 (5
(3
2
(1) 148
()]«
()
( 60, 200 )
1:1 4.3m ( )
(2 70 100 10 20
12 12 150
()
1. 2km (160, 172)
(3 (4) 0.0
35,500 /
(5
12,700 /
/
/
(6)
(7
(8) = - 0.0 +2.0
0.0 +3.0
-1 (1) 0.0 +5.0
[ 99.5]| 100 100 |[ 100.0] 35500 8'8 8‘8
39,300 / 100 |[ 100.0]|[ 110.3]| 100 ' 0.0 :
(9 0.0 +1.0
0.0 -3.0
( )-4 (1) 0.0 +19.0
[ 99.5]| 100 100 |[ 100.0] 35 600 %‘8 8‘8
42,100 / 100 |[ 101.0]|[ 116.6]| 100 ' 0.0 :
(10) -1
- (|
36,000 /
-2
1 1
/
-1.4 ]




5 7 18
()-3 -1
()-3
6, 040, 000 44,100 |
1
(1) 5 7 1 |(9 5 7 1 (6) |1 5 ] /
1.1
(2) 5 6 23 (5
(3
2
(1) 137
() (
()
( 60, 200 )
1.2 8.5m ( )
2 800m
(2 80 80 0 40
10 15 150
()
800m ( 60, 200)
(3) (4) 0.0
5 44,300 |
22,900 |
/
/
(6)
(7)
€) o = 0.0 6.0
0.0 -1.0
-2 (1) 0.0 +6.0
[ 99.6 ]| 100 100 ([ 100.0] a4 200 8‘8 8'8
43,800 | 100 |[ 100.0]|[ 98.6 ]| 100 ’ 0.0 '
(9) 0.0 -5.0
0.0 -4.0
-4 (1) 0.0 +3.0
[ 99.5]| 100 100 |[ 100.0] 44 200 %8 8'8
42,100 |/ 100 |[ 10L.0]|[ 93.9 ]| 100 ' 0.0 '
(10 -1
- (]
44,700 |
-2
(] [
/
-1.3




5 7 18
()51 -1
( )51
7, 710, 000 43,300 /
1
(1) 5 1[4 5 7 10 (6) 5 ] !
1.1
(2 5 15 (5)
(3
2
(1 178
()
( 80, 400)
1:2 15m ( )
3 400m
( 90, 400)
(2 0 50 50 50
9.5 20.0 190
I
400m ( 80, 400 )
(3 (4) +5.0
(5) 43,800 /
27,200 /
/
/
(6)
(7
(8 -
1)
[ 1/ 100 100 [ ]
100 | [ 1/ 100
(9 0.0 -1.0
0.0 -3.0
( )52 (1) 0.0 +22.0
[ 99.1]| 100 100 |[ 105.0] 43,000 8'8 '3‘8
46, 500 100 |[ 100.0]|[ 112.5]| 100 ' 0.0 :
(10)
(|
44,200 /
1
/
-2.0




